6.9 RV(I-1) 50 Hz synchronous motor hasa - ~/-conreefed — — g
synchronous reactance of 95 Ohm/phase. For this acn j b é/‘/}
problem all losses and saturation effect may be s 2
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neglected.

2Lampute the armature current and pf of the motor when supplying ; |
‘ rated power and the load angle is 54.4 degrees. / XsLo sl 9) =0
: I .
b) Compute the maximum power this motor can deliver if ts field /
excitation is kept constant at the value in part a. Compute the power -

factor and armature current.

¢) What should be the minimum percentage increase in the field
current for the motor to supply 1 MW power.

d) What should be the excitation voltage for the motor to supply
rated power while drawing minimum armature current?
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